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13 Unmiversity roll no. - 20044563042

14 ‘\end{block}

15 \end{frame}

16 = \begin{frame}{Example 9.6]

17 - \begin{enumerate}

18 \item Let $\mathbf{x}=(x_1,\ldots,x_n)%,

19 where the 5x_i$ are nonnegative real numbers.
20 Set

2t N[

22 mM_rC\mathbf{x}) = \left(\frac{x_larix_2ar

23 +\cdots+x_nAr}{n}\right)a{l/r},

24 \; \; r \in \mathbf{R} \setminus \{0\},

25 \]

26 and

27 AL

28 M_0(\mathbf{x})=\Teft( x_1 x_2 \ldots x_n \right)A{1/n},
29 \]

30 We call M_r(\mathbf{x})% the \emph{§r$th power mean}
31 of $\mathbf{x}s.
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\lim_{r \rightarrow 0} M_r(\mathbf{x}) =
M_0(\mathbf{x}).
A\l
‘\end{enumerate}
\end{frame}
- \begin{frame}{How to use graphics}
- \begin{enumerate}

item Define

\[

v_n=

\left[
- '-\beg'in{array}{;cc;c}

1&1&1&\ldots & 1\\,

X1 & x 2 & x 3 & \ldots & x_n

X_1A2 & x_2A2 & x_3A2 & \ldots & x_nA2\\

\vdots & \vdots & \vdots & \ddots & \vdots\\

x_1r{n-1} & x_2A{n-1} & x_3A{n-1} & \ldots & x_nA{n-1}

\end{array}

\right].

|

we call $v_n§ the ‘\emph{vandermonde matrix} of order $ns.
Claim: )

\[

\det ¥_n = \prod_{1 \leq i < j \leq n}(x_j-x_i).

\end{enumerate}

end{frame}
~ \begin{frame}{ question 4} A OneDrive
~ \begin{egnarray=}

{3A344A345A3=6A3}, Scr
{\sgrt{100}=10} =
{(a+b)A3=aA3+3an2b+3abA2+bA3} On

\sum_{k=1}An k=\frac{n(n+1) H2}



w ® 0O w

IGNMENT % Review ” Share Q Submit 9 History , Chat

P

{(a+h)A3:aA3+3aA2h+3ab-‘\2+bA3}

66 \sum_{k=1}An k-:\f:‘ac{n(ml)}{z}

67 \‘Frac{'\pi}{4}:\fra:{1}{1}—\frac{l}{3}+’\fra({}.}{5} -\frac{1}{7}+\frac{1}{9}-\ frac{1}{11}+\cdots
68 \end{egnarray*}

69 ‘\end{frame}

70

71~ \begin{frame}

72 » \begin{egnarray#}

73 \lin_{\theta\rightarrow 0}\frac{sin \thetal{\theta}=1\\
74 \lim_{x\rightarrow\i nfty}\frac{pi(x)} {x/Teg(x)}=1"

75 Nint_{-\infty}a\infry er{-xA2}dx=\sqrt{pi}

76 \end{egnarray*} -

77 ‘\end{frame}
78~ \begin{frame}  {question 5}
79~ \begin{enumerate}

4 80 \item Positive numbers a,b,c are the side lengths of a triangle if and only if § astb>c ,b+ic »a . C+axbh§

81 \item The area of a triangle with side lenghts a,b,c is given by \emph{Heron's formula}:

82 \[\mathbf{a}=\sqrt{s(s-a)(s-b)(s-c)},\]

83 where\emph{s} is the semiperimeter (a+b+c)/2.

84 \item The quadratic eql}}l"c;i.bh Sa;’:fbbx%:ﬂi has reots \[r_1,r_2=\frac{-b \pm\sqri{ba2-4ac}}{2a}\].

85 ‘\end{enumerate}

86 \end{frame}

7 - \begin{frame}

88 - \begin{enumerate}

89 \item The derivative of a function '\emph{f},denoted‘\emph{f'},1'5 defined by, .[f‘(x)=\'l1'm_{h.rightarrowQ}\frac{F(x+h)-f(x)}{h}\]

90 \item A real-valued function \emph{f} is ‘\emph{convex} on an interval ‘emph{I} if [F(\1ambda x+(1-\lambda)y) \leg\lambda f(x)+(1-\1 anbda)f(y)\1,\[for all «x,y \in
I and 0 \leg \lambda \Teql\].

91 \item The general solution to the differential equation $3y"-3y'+2y=083 is 3§ y=C_leAx +C_Jen 2x}.8% n OneDrive X

92 \item The Fermat number$ F_n$ is defined as 35 F_n=2A{2An}$$, n>0.

93 \end{enumerate} Screenshot saved

94 \end{frame} . The screenshot was added to your

> OneDrive,

96 - \begin{frame}{Question 63}

97 - \begin{itemize}
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\item The Fermat number$ F_n$ is defined as
\end{enumerate}
\end{frame}

$% F_n=2A{2An}$$, n>0.

\begin{frame}{Question 6}
\begin{itemize}
\item l[\frac{d}{dx}\left(\Frac{x}{x+1}\right):\Frac{l}{(x+1)A2}{
Nitem \[\Tim_{n \fightarrow
\inftyN\left(1+\frac{1}{n}\right)An=e\]
\item
\[\begin{vmatrix}
ad&b
c&d
\end{vmatr\x}=ad—g;.]
\item\[R_\theta=\begin{bmatrix}\cos\theta &
-\sin\theta\\, \sin\theta & \cos\theta
\end{bmatrix}\]
\item\[\begin{vmatrix}
i&ja&k
alé&b.2&a3\\
b_1&b_2 &b_3
\end{vmatrix}=
\begin{vmatrix}
a2 & a3\
b 1&b_3
\end{vmatrix}\textbf{i}-\begin{vmatrix}
al & b_3\\
b_1&b_3
\end{vmatrix}\textbf{j}+\begin{vmatrix}
a_l & a_2\\
b_1&b_2
\end{vmatrix}\textbf{k}\]
\end{itemize}
‘\end{frame}




submit ' J) History @ Chat

Rich Text il

\end{frame}

127« \begin{frame}
128 - ‘\begin{itemize}

129 \item \[\begin{bmatrix} a_{11} & a_{12}\\a_{21} & a_{22} ‘\end{bmatrix} \begin{bmatrix} b_{11}& b_{12}\\b_{21} & b_{22} \end{bmatrix}=\begin{bmatrix} a_{11}
b_{11}+a {12} b_{21} & a {11}b_{12}+ a_{12}b_{22}\\ a_{21} b_{11}+ a {22}b_{21}& a_{21}b_{12}+ a_{22} b_{22}\end{bmatrix}\]

130 \item\[F(x)=\begin{cases}-xA2,& x <0\\xA2, & 0\le x \le 2\\ 4,& >2\end{cases}\]

131 \end{itemize}

132

133 vend{frame}

134

135 - \begin{frame}{Question 7(MULTI LINE EQUATIONS)}

136 - \begin{block}{1 st part}

137 {1+2 =3

138 44546 =748

139 9+10+11+12= 13+14+15%)

140 16+17+18+19420= 21422423424

141 25+26+27+28+29430=31+32+433+34+35}

142 ‘\end{block]}

143 \end{frame}
144 + ‘\begin{frame}

145 - \begin {b'lock}{an part}

146 {\begin{egnarray=}

147 (a+b) A28=&(a+b) (a+h)",

148 &=&(a+b)a+(a+b)b

149 &=&a(a+b)+b(a+b)\\

150 &=far2+ab+ba+tbA2\

151 &=8ar2+ab+ab+bA2\ H

152 &=& ar2+2ab+bnz u Onebrive &
153 :\El‘ld{éql\ﬁr ray*}} Screenshot saved

1:: .\end;::ﬂz;ock} . The screenshot was added to your
156~ \begin{frame} St

157~ \begin{block}{3rd part}
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&&ar2+ab+ba+ba2\’

&=&ar2+ab+ab+bA2\)\

&=& an2+2ab+bna2

\end{eqnarray*}}
\end{block}

\end{frame}

\begin{frame}

\begin{block}{3rd part}

{$tan(\alpha +\beta+\gamma)$=%\frac{tan(\alpha+ beta)+tan\gamma} {1-tan(\alpha+\beta)tan\gamma}$}\\

=\[\frac{\frac{tan\alpha+tan\beta}{1-tan\alpha tan\beta}+tan\gamma}{1- (\frac{tan\alpha+tan\beta}{1-tan\alpha tan\beta})tan‘\gamma}\]\\

=\[\frac{tan\alpha+tan\beta+(1-tan\alpha tan\beta)tan\gamma}{l-tan\alpha tan‘\beta-(tan\alpha+tan\beta)tan\gamma}'\]"\\

=\[\frac{tan\alphas+tan\beta+tan\gamma-tan\alpha tan\beta tan\gamma}{1-tan\alpha tan\beta -tan\alpha tan\gamma -tan \beta tan‘\gamma}\]

\end{block}
\end{frame}
\begin{frame}
\begin{block}{4th part}
{ \begin{egnarray*}
\prod_p \left(1-\frac{1}{pa2}\right)&=&\prod_p \frac{1}{1+\frac{1}{pA2}+\frac{1}{pArd}+\cdots}\\
&=&\Teft(\left(\prod_p(1+\frac{1}{pA2}+\Frac{1}{pAd}+\cdots\right)\right)A{-1}
&=&\left(1+\frac{1}{2A2}+\frac{1}{3A2}+\frac{1}{4A2}+\cdots \rightdA{-1}\
&=8&\frac{6}{\pir2}
\end{eqnarray*}}
\end{block}
\end{frame}
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